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TIT-502 1010

Odd Semester Examination 2018-19

B.TECH.(IT) (SEMESTER-V)

ARTIFICIAL INTELLIGENCE

Time: 03:00 Hours Max Marks :100

Note: Attempt all the questions.
1. Attempt any four questions of the following: [(5%4=20]
a) What is the difference between intelligence and artificial intelligence?

b) Describe the Turing machine for artificial intelligence and justify its validity from a
modern standpoint.

c) Differentiatebetween A* algorithm and AO*algorithm. Which one is selected for a
problem?

d) Solve the crypt arithmetic problem using constraints satisfaction search
procedural

FOUR+FOUR=EIGHT
e) Explain the concepl of means-ends analysis procedure.
2. Attempt any four questions of the following: (5x4=20)
a) How reinforcement learning differs from supervised learning?

b) Explain Apriori algorithm? What are the major shortcomings of Apriori algorithm
which made itNon-useful in large databases?

c) Describe the naive Bayesian method of classification.
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d)  Differentinto the feed forward and feedback system. Provide dlagrams and
sultable axamplos

n)  Briefly dusoribe ant 0olony oplimization(ACQ),
3, Attempt any two questions of the following: [10x2%20)

(n)  Using the faoty

() Rema was o man,

() Ramn was a saint

() All saints are Mindu

(V) Ravans was o ruler

(V) ANl Hindus ware loyal to ravana or hatred him

(Vi) Everyone in loyal 1o someons,

(vil)  Paopleonly try to assassinate rulers thay are not loyal 1o,

(Vill) - Rama tried to assassinate ravana,

(1x) Al man are paople.

Covort thae following sentences into prodionte calculu,

Answar the question *Did Rama hate ravana?”

(h)  Dafine the concapt of water jug problem. There are WO Jugs 4 liter und 3 liter
capacitios, Noither has any marking made on it. There is o pump Issued 1o il the
Jugs with water. How aan we oblain oxnolly 2 lter of waler in the 4 [itor Jug,

(€)  Considor trying to solve the # puzzie using the hill elimbing heuristic. Gan you
find o hourstic function that makes this. work? Make sure It works on (he

following example:
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4, Attempt any two questions of the following: [10x2=20]

(a)  Write a script for enrolling as a student for an examination.
(b)  construct CD representation of the following:

(i) John begged Mary for a pencil.

(i)  Vinod stirred his coffee with a spoon.

(i)  Reji took the book off Jim.

(iv) On my way home, | stopped to fill my car with petrol.

(v) | heard stranger music in the woods.

(vi)  Drinking beer makes you drunk.

(vii) John killed Mary by strangling her.

(c) Define learning. Explain its types of learning with example. Also explain robotic
agents? How they reduce human efforts?

S. Attempt any lwo questions of the following: [10x2=20]

(a) What are the fundamental characteristics of an expert system? What are the
difference between expert system and conventional program?

(b)  List the advantage of rule —based expert systems. What are their disadvantages?
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(e)

HT-502/240

Threo misslonaries and three cannibals find thomsalves on one side of a bridgo.
Thay have agreed that they would all like 1o gel to the ofher side But the
misslonaries are not sure what else the cannibals have agreed lo. So the
misslonarion wants 1© manage the trip scross the bridge In such o way that the
number of missionaries on oither side of the bridge is never loss than the number
of gannibals on that side, The only boat avallable holds only two people at a time.
How oan avaryona got noross the bridge without the missionaries rsking belng
oaten? Prove It using resolution.
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